1)    I start walking down on the stairs and when i'm on the 7th step i c my prof coming from ground floor blah blah...... he reaches the top and i still have 4 steps to take.he takes 2 steps to 1 of mine.How many r there steps in all?shakunthala one i think
Ans:After 14 step bath are on same step and after she will take 7 step to reach on top. and on that time you will take 3 step so diffrence is 4, that is you are on 4 step left to top and you r on 13 step and ready to take on 14 step.

 

So she total take 14+ 7 = 21 step.
2 A lady goes for shopping. She bought some shoestrings. 4 times the number of shoestrings, she bought pins and 8 times, handkerchiefs. She paid each item with their count as each piece's cost. She totally spent Rs. 3.24. How many handkerchiefs did she buy?  

ANS  shoe strings are avail in pair so she bough 2 shoestrings so the 8 tmes of 2 is 2*8 = 16 
she bought 16 handkers 
and the priece is just fr confusion
look there is no price set for any of that three item
reply if i am right

)      There are two systems A and B. 14 degrees in A is equivalent to 36 in system B. 133 in A is equivalent to 87 in B. What is the temperature at which they both are equal? http://www.ChetanaSinterview.com
2)      Same Jewel  problem i.e., Garnet, Opal, Ruby etc ( 8 Marks)
3)      A man travels to his office at 10kms/hr. On his return journey he travels the same distance at the speed of 15kms/hr as the road was empty. What was the average speed? ( 3 Marks)
4)      There were two clock one is getting  slow by two minutes/hr and another one is  gaining 1 minute every hour and exactly after how many hours there two clock has a 1hr difference. (4 Marks)
     5)  Find the next term of the series:
               a) 1,2,3,8,_,224  ( 6 Marks)
                b)1,2,3,5,16,_                    
6) There is a die. In how many ways can u arrange 1,2,3,4,5,6 on the faces  of the die            such that 1&6, 2&5 and 4&3 always remain on opposite faces.
           
7) There is a peculiar island where people speak a strange language called 'Kubi'. The men always speak truth and a women never say two 2 consecutive  truth or false statements, that is, if she says truth statement  once then she says false statement next and vice versa. The boys and girls always lie. One day I asked a child  "Are you a boy or girl ?" and the child replied in Kubi. Since I didn't know the language, I asked the child's parents what it means. One of the parents said "The child says, "I am a boy"  and the other said that  "The child is a girl. He lied". http://www.ChetanaSinterview.com
a) Is the child a boy or a girl? 
b) Which parent answered first? (8 Marks)



 8)  A was  man asked to do a work regarding an object. Percentage given is 5%. He took the 1st object and left next 2 objects. He took 2nd object & left next 3 objects and so on (Like this its given) ( 6 Marks) Sorry I couldn’t remember
9) 100 Pipe Cisterns are given and v have to attach one after the other. What is the minimum probability to attach?
-------------------------------------------------
1.a man there are  27 Cigarrete from each Cigarrete he used to smoke only       2/3rd and remaining is 1/3.so from 3 butts make 1full ciger finally how many ciger he smoke.

ANS: 40 ciger.

 

2.There are some apple if it arranged  3,5,7,9 rows get 1 reminder

but if it is arranged 11 no reminder.how many apples are there ?

ANS:946

sol (3*5*7*9)+1=946

 

3.repeated temperature sum

ANS:-2,-1,1,2,3

 

4.four people 4 job(police,druggest,grocer,butcher)

 find their job (easy one)

 

5.There are 4 enclosure a man count the sheep and write it in other languge

 75as ! @ ~ 225as(something) 183as(!~)like that then ~!@ what is this?

ANS: i don't know( repeated question)

 

6.some jwalls diamond ,ruby,opal,.......... totaly 7 right and left windows are there u have to place each side accordind to the condition given 4 questions each 2 marks.(Easy one only).

 

7.In a family son age is 5 times daughter,wife age is 5 times daughter age ,father is 2 times wife,summation of all their  age is 81

find son age?

ANS:5 yrs

 

8.speed problem forward journey is 10m/hr

   return journey is 15m/hr fine avg speed?

   ANS:12 m/hr

9 and 10 th are simple one(repeated one).

--------------------------------
   1.A and B play a game. Loser of each game has to give a coin to the winner. At the end  A gains 3 coins even though B won 3 games. How many games did they play?
    Approach: A lost 3 games (given B won 3 games)
                      To compensate A has to win 3 games.
                      To gain 3 coins A has to win 3 more games.
                      So total = 3+3+3 = 9 games.
2. A boy asked his sister that "how many chocolates are with you now out of what I gave you yesterday". She replied him in confusing way "I gave half of those to mom and half more to dad. Then, from remaining chocolates, I gave half of those and another half of a chocolate to our pet dog. After that, one chocolate was remaining and I ate that gracefully". How many chocolates did the boy give to his sister?
Ans:7
 
3. There are five persons in an office in the post of buyer, clerk, footwalker, manager,cashier.
Allen, Benett, Clark, Ewinger, Davis holds the post.
- Among the 5 two have their lunch time from 11:30- 12:30 and the rest have it in 12:30 -1:30
- Mrs Allen and Mrs Benett are sisters.
- Cashier and clerk share their lunch among themselves.
- Two Bachelors share their rooms.
- Davis and Ewinger doesn't face each other from the day Davis reported Ewinger to the Manager when he returned from lunch and found out that Ewinger has already left for lunch before time.
Ans:
I m not sure about the answers
Davis:Buyer
Clark:Cashier
Allen: Manager
Benett:Clerk
Ewinger:Footwalker
 
4. one day a person wanted to meet a lawyer, but lawyer was busy,so he told the man to meet him 2 days after the day before the day after tomorrow .Tell what the day is ,if today is Friday.
 
Ans  day after tomorrow-Sunday
         The day before day after tomorrow-Saturday
          2 days after Saturday=Monday
Monday
 
5. four friends of four family prepares salad with fruits. Some conditions and four ques from it.
 This too vry easy,if u know the method.Try to show this by rows and cols.
 
6. Jan robinson, kate jones, john smith are engineer, pilot & biochemist not in the order .they have three martian assistants . as they find difficulty with martian names they gave them nick names as smith, robinson, jones as their masters name. 
1.robinson is an yomi 
2.all martians speak uri. 
3.the martians name is the same as the bio chemist is naim 
4.robinson beats engineer in the chess 
(one more condition) who is the pilot?
dont remember exactly..
 
Ans :Jan robinson
 
 
7.i.1,2,3,5,(sorry I forgot the series)
ii  1,2,3,8,__,224
 
8.A plant  in the garden. it doubles every day. it can over the entire field in 50 days. how much days ll it take to cover half field.
Ans:49
 
9.A foot print was on the floor. When their mother asked who broke Annie said, “I didn’t do it”; Fanny said “Danny did it”; Danny said “Fanny is lieing”; here two of them are lieing, one is speaking truth. Can you find out who broke it ? 
Ans : Annie
 
----------------------------------------------------------------------------------------------
